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Unit 1

Part One  BASIC LISTENING

I.

Listen to the conversations and choose the best answer to each ques-

tion you hear.

1.

2.

IO A W

A) In a department store. B) In an office.

C) In a drugstore. D) In a stationery store.
A) In the next door. B) In her room.

C) In the garden. D) In the kitchen.

A) 6.55. B) 6.40. C) 7.05. D) 7:15.

A) 10 cents. B) 15 cents. C) 20 cents. D) 25 cents.
A) Two. B) Three. C) Four. D) Five.

A) Play the piano. B) Sing along with her.

C) Teach her to sing. D) Accompany her to a play.
A) Listen to the weather report.

B) Go to get the umbrella.
C) Go with the man without an umbrella.

D) Wait for the man.

. A) John will break his word.

B) John will keep his word.
C) John will come to the party.
D) John will be invited to the party.

. A) Bread. B) Snack. C) Something to drink. D) Nothing.

. A) She had never eaten such delicious oranges before.
B) She bets there are better oranges available.

C) She doesn’t understand why the man likes the oranges.



D) She has had the same kind of oranges before.
II. Dictation; Listen and fill in the blanks with what you hear.

How can one find out if there is a seat available on a
plane? What is the quickest way to obtain ? What is the most
efficient way for a big company ? What is an ultramodern wéy
to find a close friend, or even a ) ?

For many people there is a single answer to all these questions —

the computer. The modern computer is an which in seconds can
perform or' produce answers to various kinds of problems. It
has extended the of man in much the same way that the auto-
mobile and the airline have extended his ability to from place to
place.
Part Two TASKS
Task 1 Computer Applications
Vocabulary

census A [ ¥ &

Listen to the passage and fill in the table with what you hear.

Computer Users Computer applications

1) process

Governments
2) facilitate

City officials 3) and traffic
Banks and 4) give faster and better service
Scientists, 5) do difficult and

and scholars 6) research work
some lonely people find 7)




Task 2 The Development of Computers

Listen to the passage and choose the best answer to each question you

hear.

1. A) For about 46 years. B) For about 90 years.
C) For about 60 years. D) For about 50 years.

2. A) Gathering information. B) Business management.
C) Simple calculations. D) Computer design.

3. A) Writing letters. B) Storing information.
C) Giving answers needed. D) Composing music.

4. A) It will become a memory machine.

B) It will work out programs.
C) It will be somewhat intelligent.
D) It will be the wonder of the future.

Task 3 Miracle Chips

Vocabulary
switching yard Z & iE%E 1%
versatile 2% 75 T ) utopian & 3&

Listen to the passage and choose the best answer to each question you

hear.

1. A) Easiness to produce. B) Amazing calculating capability.
C) Convenience in use. D) Low price.

2. A) Reducing the burden from human brain.

B) Taking over the heavy work.

C) Raising productivity.

D) Changing the society.

A) The chip is very cheap because it is made of silicon.

B) A computers used to be as big as a room.

C) Computerization is as significant as Industrial Revolution.

D) Household work is expected to be 'combuterized.
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Unit 2

Part One  BASIC LISTENING

Listen to the conversations and choose the best answer to each ques-

tion you hear.

1.

A) Mrs. Smith. B) Her mother.

C) Her mother’s family. D) No one.
. A) To lose weight. B) To do physical s.

C) To talk to her sister. ' D) Not to feel surprised.
. A) A silk dress. B) A toy gun.

C) A pair of tennis shoes. D) None of these.
. A) The height of the mountain.

B) The ages of the couple.
C) The health condition of the couple.

D) The view of the mountain.

. A) It is near her work. B) It is cheaper.
C) It is quieter. D) It is convenient.
. A) She agrees with the man.

B) She likes warm and dry weather

C) Autumn is not a good season for holiday.

D) Autumn is always cold and wet.

A) He waited for the bus. B) The bus was crowded.
C) Something wrong with his car. D) He was ill.

A) He didn’t have enough sleep. B) He overslept.

C) He was exposed to the sun. D) He didn’t take aspirin.

. A) He can’t find his seat.

4




B) He doesn’t want to sit close to the stage.
C) He would rather stand than sit down.
D) He expects the hall to be crowded.
10. A) Wéited for his friends. B) Stayed inside.
C) Gone out. D) Taken a train.
I1. Dictation.: Listen carefully and fill in the blanks with what you
hear. .
Just as the radio telescope has enabled the man to look onto the
5 so the development of the microscope the tiniest parti-
cles of living matter. The electron —microscope, which can magnify up
to times, is making it possible to explore things as small as liv-
ing cells and viruses.

Scientists today can watch the of the minute speck of mat-
ter that is the living cell. They can see how a single cell . They
can look deep into the heart of the cell.

Now, scientists are seeking to the multiplication of dis-
eased cells in cancer. They are using their knowledge to from
one person to another and hope to combat the problem of one set of cells

rejecting the other. A whole range of is developing.
Part Two . TASKS

Task 1 Ptolemy — An Astronomer and Map Maker

Vocabulary
atias Hh [ £
Listen to the passage and fill in the blanks according to what you hear.

1. Ptolomy produced a book containing in about 150 A. D.

2. In this book he gave the size of
3. He also listed
4. He studied the distances of



5.
6.

He produced an atlas of
He found a way of showing of the earth on of a

book.

Task 2 Rats

Vocabulary
flea Bt X bubonic plague FHk = B BEF
typhus BEZ {5 %

Listen to the passage and choose the best answer to each question you

hear.

1.

A) Rats are the cleverest and most dangerous animals on earth.
B) Rats have killed more people than men have done.

C) Black rats have been completely wiped out.

D) Fleas are more dangerous than rats.

A) If black rats are wiped out, there will be no fleas.

B) Thousands of Europeans are suffering from plague.

C) Black rats fear brown rats.

D) Brown rats are not so dangerous as black rats.

3. A) 200 million tons. B) 400 million tons.
C) 20 million tons. D) 33 million tons.
4. A) There are too many rats on earth. B) Rats are too clever.
C) Men are not clean enough. D) Both B) and C).
Task 3 Radioactivity
Vocabulary

tissue (4 49)) 2H 41 badge ¥ =

Listen to the passage and choose the best answer to each question you

hear.

1.

A) It may destroy good tissues. B) It can find diseased tissues.
B) It can cause hereditary diseases.D) It can burn skin.

6




3.

A) Tt is harmful. B) It may burn our hands as flames do.
C) It can cause injuries. D) It may harm without immediate pains.
A) Wearing special clothes. B) Building thick walls.

C) Fixing lead doors. D) Using radiation detectors.



Unit 3

Part One BASIC LISTENING

I.

Listen to the conversations and choose the best answer to each ques-

tion you hear.

1.
2.

A) The man. B) The woman. C) A friend. D) The secretary.

A) Write the letter. B) Clean the kitchen.
C) Move a table. D) Search for the pen.
A) Met his friend. "~ B) Saw a movie.

C) Went for a walk. D) Made a phone call.

4. A) $2.00. B) $1.00. C) 50 cents. D) $ 1.50
5. A) 90 minutes. B) 60 minutes. C) 30 minutes. D) 9 minutes.

6. A) The woman walks silowly. B) The woman is a fast talker.

8.
9.

C) The woman can walk faster. D) The woman walks too quickly.
A) At the bank. B) At the market.

C) At the nursery. D) At a hardware store.

A) The man’s. B) The woman’s. C) The boss’s. D) His own.
A) The man’s. B) The woman’s. C) Sidney’s. D) Susan’s.

10. A) The room is on fire.

B) The man is bothered by the smoke.
C) No smoking is permitted in this room.

D) The man is not permitted to enter the room.

I1. Dictation: Listen and fill in the blanks with what you hear.

The history of the trade union movement is one of pro-

gress. This progress has been in two directions. Small local unions

joined together to form , and unions that represented different

8




kinds of workers join together. The ‘Miners’ Association of
Great Britain and Ireland, formed in 1841, . The Amalgamated
Society of Engineers, formed in 1851, is an example of the second.
This was formed by uniting a number of separate unions, those of
. This was an important mile—stone in the history of the trade

unions because of control at the centre. The example was
The Amalgamated Society of Carpenters and Joiners was

formed in 1861. were the Iron Founders, the Bricklayers, and

Boot and Shoe Workers.
Part Two TASKS

Task 1 Trade Unions
Listen to the passage and answer the following gquestions briefly accord-
ing to what you hear.
1. What is the purpose of the first trade unions?
2. What is the duty of the trade unions?
3. What is the ”subscription?
4. What is the subscription used for?
Task 2 The Duty of the Trade Unions
Listen and choc;se the best answer to each question you hear.
1. A) By the workers.
B) By the trade unions.
C) By the trade unions and the employers.
D) By the employers.
2. A) The workers may strike.
B) The workers may bargain with the employers.
C) The workers may close the factory.
D) The trade unions vx;ill discuss the agreement.

3. A) All the workers belong to the same trade union



B) The duty of the trade union is to organise strikes,
C) Workers stand at the factory gate when a strike takes place.
D) Not all the workers want to strike.
4. A) To discuss the existing agreements.
B) ’ljo carry out the agreements.
C) To discuss new agreements when_ needed.
D) To ensure that the agreements work well.
Task 3 The Trade Unions Today
Listen and choose the best answer to each question you hear.
1. A) More workers might lose their jobs.
B) There will be more jobs available.
C) The prices will go down.
D) The supply of goods will increase.
2. A) Wages and working hours.
B) Disease.
C) Population \
D) Education. ‘
3. A) The cooperate between the trade unions and the government.
B) The trade unions have more duties. |
C) The new focuses of the trade unions today.

D) The trade unions become more important.

10




Unit 4

Part One BASIC LISTENING

I. Listen to the conversations and choose the best answer to.each ques- '
tion you hear.
1. A) He didn’t know when the play begins.
B) He didn’t like the pléy very much.
C) He didn’t want to talk about the play right away.
D) He wasn’t sure what the first part was about.
2. A) Saying goodbye to a friend. B) Selling a ticket to the woman.
C) Paying a bill at the bank. D) Arranging a plane trip.
3. A) Tea is better than coffee.
B) The man should change to tea.
C) The man drinks both coffee and tea before going to bed.
D) The man should drink neither coffee nor tea before going to bed.
4. A) He is not sure whether Mary is doing the experiment.
B) He wants to know when she’s coming.
C) He wants to see how her experiment is going.
D) He isn’t interested in watthing her.
5. A) He’d rather go to the lecture. ]
B) He doesn’t mind if anyone goes to the lecture.
C) He has heard of the lecture.
D) He finds the lecture very interesting.
6. A) Leave for home.
B) Check the window.
C) Shut the window later.
11



